20114E10§ 18 ~20125E3 24 A& ES EEXR(EHEER) JTA/RAC
X AANEBEE INRERER SEREALEES] #H1EEI5I

BEEA | B8 [10/1-20fERs MBIFED)| 10/00-11/20i8Rs | FBIED| 12/1-sm%s | BBIED| 171001585 | BBED| 12701 0pmme | WFEQ)| 0/2-20mRs | WBIEQ| 10/1-208F 5 | WFIED| 10/30-/ 2055 | W3IED W31EQ| FWEH] #5120 L—/H] |#s1%e
1| BER="EGRH) JTA 40,800/ 42,900 20,400  50% 20,400 50% 20,400 50%| 20,400 50%| 21,450 50%| 21,450 50%| 26,100 36% 26,100 36% 39%| 36,800 10%| 38,500 10%
2 | KBr=#E(GBF:H) JTA 34,200/ 36,400| 17,100 50% 17,100] 50%| 17,100 50%| 17,100 50%| 18,200/ 50%| 18,200 50%| 21,900 36%| 21,900 36% 40% 31,200 9% 32,600 10%
3 | fErE =48 (BRER) JTA 27,500 29,600 13,750  50% 13,750 50%| 13,750 50%| 13,750 50%| 14,800/ 50%| 14,800 50%| 17,600 36%| 17,600 36% 41% 25100 9% 26,200 11%
4 | RER=HIE JTA 59,300 61,500 29,650  50% 29,650 50% 29,650 50%| 29,650 50%| 30,750 50%| 30,750 50%| 37,950 36% 37,950 36% 38%| 51,000 14%| 53,400 13%
5 | BRE=E%H JTA 55,500 57,700 27,750  50% 27,750 50% 27,750 50%| 27,750 50%| 28,850 50%| 28,850 50%| 35500 36% 35500 36% 38%| 47,700 14%| 50,000 13%
6 | KiR=%1E JTA 48,400 50,600 24,200 50% 24,200 50% 24,200 50%| 24,200 50%| 25300 50% 25300 50% 31,000 36% 31,000 36% 39%| 42,000 13%| 43,900 13%
1| AEE=RIE JTA 53,000] 55200 26,500 50% 26,500 50% 26,500 50%| 26,500 50%| 27,600 50%| 27,600 50% 33,900 36% 33,900 36% 39%| 46,100 13%| 48,000 13%
8 | /MR =ihi8 (FRER) JTA 40,800/ 42,900 20,400  50% 20,400 50% 20,400 50%| 20,400 50%| 21,450 50%| 21,450 50% 26,100 36% 26,100 36% 39%| 36,700 10%| 38,400 10%
9 | HEE=1#EGRH) JTA 38,600 40,800 19,300  50% 19,300] 50%| 19,300 50%| 19,300 50%| 20,400/ 50%| 20,400 50%| 24,700 36%| 24,700, 36% 39%| 34.800 10%| 36,400 11%
10 | RE=ih4E (BRER) JTA 34,200 36,400| 17,100 50% 17,100] 50%| 17,100 50%| 17,100 50%| 18,200/ 50%| 18,200 50%| 21,900 36%| 21,900, 36% 40% 30,600 11%| 31,900 12%
1| A% =HRiE JTA 23,000] 24,100] 11,500  50% 11,500] 50%| 11,500 50%| 11,500 50%| 12,050 50%| 12,050 50%| 14,700 36%| 14,700 36% 39%| 19,700 14%| 20,500 15%
12 | RS =25 JTA/RAC| 17,500 18,600 7,800  55% 7,800  55% 6,100,  65% 8,750 50%| 6,100 67%| 9,300 50% 11,200 36% 11,200 36% 40% 15000 14%| 15700 16%
13 | AiE=E%#H JTA/RAC| 11,900| 12,400 5950  50% 5950  50% 5950 50% 5950 50%| 6,200 50%| 6,200 50% 7,600  36% 7,600 36% 39%| 10,400 13%| 10,800 13%
14 | AR =AKRE |JTA/RAC| 11,800] 12,300 5,700  52% 5,700 52% 5,700 52% 5700 52%| 5700 54%| 5700 54% 7,550  36% 7,550 36% 39%| 10,200| 14%| 10,700 13%
15 | HiE=5#E JTA/RAC| 11,800| 12,300 5700  52% 4,150, 65% 4,150, 65% 4,150 65%| 4,300 65%| 4,300 65% 7,550  36% 5300 55% 57%| 7,150 39%| 7,500 39%
16 | 4R (BB =55k RAC 14,200| 15,300 7,100 50% 7,100 50% 7,100 50% 7,100 50%| 7.650 50%|  7.650 50% 9,100, 36% 9,100 36% 41%| 12,900 9% 13,900 9%
17 | H#BRE) =8,-EXS | RAC 23,300 24,400| 11,650  50% 11,650, 50%| 11,650 50%| 11,650 50%| 12,200] 50%| 12,200 50%| 14,900 36%| 14,900 36% 39%| 21,200 9% 22,200/ 9%
18 | A8 (FBE;) =M AR RAC 24,900 24,900 12,450  50% 8,700,  65% 8,700,  65% 8,700 65%| 8700 65% 8700 65% 15950 36% 11,150 55% 55% 15800 37%| 15800 37%
19 | A8 (RF) = KK RAC 24,900| 24,900( 12,450  50% 8,700 65% 8,700 65% 8,700 65%| 8700 65% 8700 65% 15950 36% 11,150 55% 55%| 15800 37%| 15800 37%
20 | AAE=JXHE RAC 8,300/ 8,300 4,150 50% 4,150 50% 4,150 50% 4,150 50%| 4,150 50%| 4,150 50% 5,300 36% 5300 36% 36% 7,600 8% 7.600 8%
21 | EH=%EM RAC 8,500| 8,500 4,250 50% 3,000, 65% 3,000,  65% 3,000 65% 3000 65% 3,000 65% 5450 36% 3,800 55% 55%| 5450 36%| 5450 36%
22 | g (RER) =S5 AE RAC 31,700 33,400) 15850  50% 15,850 50%| 15850 50%| 15850 50% 16,700/ 50%| 16,700 50%| 20,300 36%| 20,300 36% 39%| 27,100 15% 28,400/ 15%
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JTA/RAC

EDRREOX T35
=R R 1% R 1% BRIIX i 1% TR X HRIX

10/1-29 %‘lg‘\‘i ‘%3:5 g%i 12/1-8 %‘lg‘\‘i ‘é}?’ g%i 12/9-15 %ﬂ%i 3/2-8 %U%i 12/‘1/?;1« %ﬂ%i 3/9-15 %U%i 12/22-28 %ﬂ%i 11]//2497 %U%i /1624 | B3I 10159 g%i ‘10]//330‘; %‘lg‘\‘i 12/1-8 g%i ‘g}?’ %‘lg‘\‘i 12/9-15 %U%i 3/2-8 %‘lgi ‘21‘/2:5" %U%i 3/9-15 %‘lgi 12/22-28 %U%i ‘2‘//149’ %‘lgi 3/16-24 %U%i

1| EER=;48(PF) | JTA | 36,300 11%| 36,300 11%| 36,300 11%| 36,300 11%| 38,500 10%| 38,500 10%| 42,400 1% 42,400 1%| 42,400 1%| 42,400 1%| 42,400, 1%| 35,500 13%| 35,500 13%| 35,500/ 13%| 35500, 13%| 38,500 10%| 38,500 10%| 42,400 1% 42,400 1%| 42,400 1%[ 42,400 1%| 42,400 1%
2 | KBr=:#8(A&)| JTA [30,100 12%| 30,100 12%| 30,100| 12%| 30,100 12%| 32,600 10%| 32,600 10%| 35900 1%| 35900 1%| 35900 1%| 35900 1%| 35900 1%| 29,000 15%| 29,000 15%| 29,000 15%| 29,000 15%| 32,600 10%| 32,600 10% 35900 1%| 35900 1%| 35900 1% 35900 1%| 35900 1%
| 3 | EME=\r#B(F| JTA | 23800 13% 23.800 13%| 23,800 13%| 23,800 13%| 26,200 11%| 26,200/ 11%| 29,100| 2%| 29,100 2%| 29,100| 2%| 29,100/ 2%| 29,100 2%| 22,500, 18%| 22,500 18%| 22,500  18%| 22,500/ 18%| 26,200| 11%| 26,200 11%| 29,100 2%| 29,100/ 2%| 29,100| 2%| 29,100, 2%| 29,100 2%
| 4 | BR=F1E JTA | 50,500 15%| 50,500 15%) 50,500 15%| 50,500 15%| 53,400 13%) 53,400 13% 61,000/ 1%| 61,000 1%| 61,000) 1%| 61,000 1%| 61,000 1%| 42,850 28%| 42,850, 28%| 42,850 28%| 42,850 28%| 53,400, 13%| 53,400 13%| 61,000 1% 61,000 1%| 61,000 1%| 61,000 1% 61,000/ 1%
| 5| ER=2% JTA |[47.200 15%| 47,200, 15%| 47,200, 15%| 47,200 15%| 50,000| 13%| 50,000 13%| 57,200/ 1%| 57.200 1%| 57,200, 1%| 57,200/ 1%| 57,200/ 1%| 40,400 27%| 40,400/ 27%| 40,400 27%| 40,400 27%| 50,000/ 13%[ 50,000/ 13%| 57,200/ 1%[ 57,200/ 1%| 57,200, 1%| 57,200 1%| 57.200 1%
6 | AR=F18 JTA | 41,500| 14%| 41,500 14%) 41,500 14%| 41,500 14%| 43,900 13%| 43,900 13% 50,100/ 1%| 50,100/ 1%| 50,100 1%| 50,100, 1%| 50,100 1%| 35,500 27%| 35500 27%| 35,500 27%| 35,500 27%| 43,900, 13%| 43,900 13%| 50,100/ 1% 50,100 1%| 50,100| 1%| 50,100 1%) 50100 1%
7| FEER=FHE JTA |[45600 14%| 45600 14%| 45,600 14%| 45,600 14%| 48,000/ 13%| 48,000 13%| 54,700/ 1%| 54,700 1%| 54,700, 1%| 54,700/ 1%| 54,700/ 1%| 38,800 27%| 38,800/ 27%| 38,800 27%| 38,800 27%| 48,000/ 13%[ 48,000/ 13%| 54,700/ 1%[ 54,700/ 1%| 54,700, 1%| 54,700, 1%| 54,700 1%
8 | /MA=ih#B(ARE) | JTA | 36,200 11%| 36,200 11%| 36,200 11%| 36,200, 11%| 38,400 10%| 38,400 10%| 42,400 1%| 42,400| 1%| 42400 1%| 42400 1%| 42,400 1%| 33,400 18%| 33,400 18%| 33,400 18%| 33,400 18%| 38,400 10%| 38,400 10%| 42,400 1% 42400 1%| 42,400 1%| 42,400 1% 42400 1%
9| AEE=/$EGH | JTA | 32650 15%| 32,650 15%| 32,650 15%| 32,650 15%| 36,400 11%| 36,400 11%| 40,300, 1%| 40,300 1%| 40,300/ 1%| 40,300/ 1%| 40,300| 1%| 31,000 20%| 31,000/ 20%| 31,000/ 20%[ 31,000 20%| 36,400 11%| 36,400 11%| 40,300 1%| 40,300, 1%| 40,300/ 1%| 40,300/ 1%| 40,300 1%
| 10| FAL=3#8(FBE)| JTA |30,100 12%) 30,100 12%| 30,100/ 12%| 30,100 12%| 31,900 12%| 31,900, 12%| 35900 1% 35900 1%| 35900 1%| 35900 1% 35900 1%| 27,750, 19%| 27,750 19%| 27,750 19%| 27,750/ 19%| 31,900 12%| 31,900 12%| 35900 1%| 35900 1%| 35900 1% 35900 1%| 35900 1%
11| 4B (F) =FH1E| JTA [19,000 17%| 19,000 17%| 19,000, 17%| 19,000 17%| 20,500 15%| 20,500 15%) 20,500 15%| 20,500 15%| 23,600 2%| 23,600 2%| 23,600 2%| 17,200 25%| 17,200, 25%| 17,200 25%| 17,200 25%| 20,500, 15%| 20,500, 15%| 20,500| 15%| 20,500/ 15%| 23,600 2%| 23,600 2%| 23,600/ 2%
12| A48 (IBE) == |JTA/RAC| 7,900 55%| 7.900 55%| 6,200 65%| 14,500 17%| 6,200 67%| 15700 16%| 6,200| 67%| 15700 16% 6,200 67%| 9,200/ 51%| 18,100 3% 7.800 55%| 7,800 55%| 6,100 65%| 13,200 25%| 6,100/ 67%| 15,700 16% 6,100 67%| 15,700 16%| 6,100 67% 9,100 51%| 18,100 3%
13| RIE=EH JTA/RAC| 9,900 17%| 9,900| 17%| 9,900/ 17%| 9,900 17%| 10,800 13%| 10,800 13% 10,800 13%| 10,800 13%[ 11,900 4%| 11,900, 4%| 11,900, 4% 8,650 27%| 8,650 27%| 8650 27%| 8,650 27%| 10,800 13%| 10,800 13%| 10,800 13%| 10,800 13%| 11,900/ 4%| 11,900| 4%| 11,900 4%
14| B IBT =AKB|JTA/RAC| 9,700 18%| 9,700 18%| 9,700 18%| 9,700/ 18%) 10,700, 13%| 10,700 13% 10,700 13%| 10,700 13%| 11,800 4%| 11,800 4%| 11,800 4% 8,600 27%| 8600 27%| 8,600 27% 8,600 27%| 10,700/ 13%) 10,700 13%| 10,700 13%| 10,700 13%| 11,800 4%| 11,800] 4%| 11,800 4%
15| AIE=5HE JTA/RAC| 9,700 18%| 6,800/ 42%| 6,800/ 42%| 6,800 42%) 7,500 39% 7.500 39% 7,500/ 39%| 7,500 39%| 8250 33% 8250 33% 8250 33% 8600 27%| 6,000 49%| 6,000 49% 6,000 49% 7,500/ 39%| 7,500/ 39% 7500 39% 7,500 39%| 8250 33% 8250 33% 8250 33%
16| A#B(FE) =5ik| RAC | 12,400 13%| 12400 13%| 12,400/ 13%| 12,400 13%) 13,900 9%| 13900 9% 13,900 9%| 13,900 9%| 14,800, 3%| 14,800 3%| 14,800 3%| 12,300 13%| 12,300/ 13%| 12,300 13%| 12,300, 13%| 13,900/ 9%| 13,900/ 9% 13900 9%| 13,900 9%| 14,800 3% 14,800 3%| 14,800 3%
17| ##pE =w£AL| RAC | 20,700 11%| 20,700| 11%[ 20,700 11%| 20,700] 11%| 22,200] 9%| 22,200 9% 22,200) 9%| 22,200  9%[ 23,900 2%| 23,900, 2%| 23,900, 2%| 19,950  14%| 19,950 14%| 19,950 14%| 19,950 14%| 22,200/ 9%| 22,200| 9%| 22,200/ 9%| 22,200/ 9%| 23.900| 2%| 23,900| 2%| 23,900| 2%
18| h#B(IF =mAK| RAC |22100 11%| 15450 38%| 15450 38%| 15450 38%) 15800 37%| 15800 37%| 15800 37%| 15800 37%| 15,800/ 37%| 15,800 37%| 15800 37%| 21,150 15%| 14,800 41%| 14,800 41%| 14,800 41%| 15800 37%| 15800 37%| 15800 37%| 15800 37%| 15800 37%| 15,800, 37%| 15800 37%
19| *h#8(IRF) =JtX*E| RAC | 22,100 11%| 15450| 38%| 15450 38%| 15450 38%| 15,800 37%| 15,800 37%| 15800 37%| 15,800 37%| 15,800 37%| 15,800 37%| 15,800 37%| 21,150 15%| 14,800 41%| 14,800 41%| 14,800 41%| 15,800 37%| 15,800/ 37%| 15,800 37%| 15,800 37%| 15,800/ 37%| 15,800/ 37%| 15,800 37%
20| BFAAE=JtKH | RAC | 7.100| 14%| 7.100 14%| 7.100| 14%| 7.100 14% 7.600 8% 7.600 8% 7.600| 8% 7.600 8% 7.600 8% 7.600 8% 7.600 8% 7.050 15%| 7.050 15%| 7.050| 15%| 7.050 15% 7.600| 8% 7.600| 8% 7.600 8% 7.600 8% 7.600| 8% 7.600 8% 7.600 8%
21| EH=2%RMH RAC 7,300 14%| 5100 40%) 5100 40% 5,100 40% 5450 36% 5450 36% 5450 36%| 5450 36%) 5450 36% 5450 36% 5450 36% 7.250 15%| 5100 40%| 5100 40% 5,100/ 40% 5450 36%| 5450 36% 5450 36% 5450 36%| 5450 36% 5450 36% 5450 36%
22| 4B (¥) =5HME| RAC | 26,600 16%) 26,600 16%| 26,600 16%| 26,600 16%| 28400 15%| 28,400 15%) 28400 15%) 28,400 15%| 32,900 1%| 32,900 1%| 32900 1%| 21,750 31%| 21,750 31%| 21,750| 31%) 21,750 31%| 28,400 15%) 28,400 15% 28,400 15%| 28400 15%| 32,900/ 1%) 32,900 1%[ 32,900/ 1%
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JAL/JTA/JAC/RAC

FIELE]

[ Jige Ly 10/1-11/308 54> | BIBIRD)| 12/1-8 T 53| FIBIRD|1/10-3/115 %5 | BIZIRD|12/9-1/98F 5| $I51EQ)|3/2-2412 F 5 F151%Q)
FiE— 8 (B &) JTA HiIE— P& (GRER) 15600 32% 15600 32% 15600 32%| 16,100 | 33% 16,100 | 33%
RiE-E& JTA/RAC RiE-E& 8,200 | 31% 8,200 | 31% 8,200 | 31% 8,200 | 34% 8,200 | 34%
RiE—-5HE JTA/RAC RiE-5HE 5700 | 52% 5700 | 52% 5,700 | 52% 5700 | 54% 5700 | 54%
RAIE-HER JTA RAIE-HER 40,700 | 31%| 40,700 | 31%| 40,700 | 31%| 41,200 33% 41,200  33%
FiE—HX JTA RIE— P& (BRER) 14500  37% 14500 37% 14500 37% 14,700 | 39% 14,700 | 39%
JAL/JTA| 8 (BE;) —RR 26,200 = 36%| 26,200 | 36%| 26,200  36% 26,500  38%| 26,500  38%
2] &t 40,700 36%| 40,700 = 36%| 40,700 = 36%| 41,200 | 39%| 41,200 | 39%
AiE-Kk JTA AiE—-Kk 33500 | 31%] 33500 31%| 33500 31% 33950 | 33%] 33,950  33%
HiE— KR JTA HiE— P& (BRER) 14500  37% 14500 37% 14500 37% 14,700 | 39% 14,700 | 39%
JAL/JTA| & (FBER) — KR 19,000 44%| 19,000 = 44% 19,000  44%| 19250 = 47%| 19,250 = 47%
B ] &t 33,500 41%| 33500 41%| 33500 41%| 33,950 | 44%| 33950 | 44%
RiE—£HE JTA RiE-—£HE 38,650 27% 38650 27% 38650  27% 39450  29% 39450  29%
FlE—&E5E JTA HIiE— P& (BRER) 14500  37% 14500 37% 14500 37% 14,700 | 39% 14,700 | 39%
JTA  |[HB(ERE) —LHE| 24150 | 37% 24150 | 37% 24,150 | 37% 24,750 | 39% 24,750 | 39%
2SR ] B 38,650  37%| 38,650 37% 38650  37% 39,450 39% 39,450  39%
AiE—1ER JTA RiE—HiE (REH) 14500 37%| 14,500 = 37% 14500  37% 14,700 = 39%| 14,700 | 39%
JT ok — 12 , % , % . % 7,25 % 7,25 %
A B (ARER) — 186 16,100 | 41% 16,100 | 41% 16,100 | 41% 17,250 | 42% 17,250 | 42%
[id8 () ] 5 30,600 | 39% 30,600  39% 30600 39% 31950 | 41%| 31,950  41%
B — 8 (3BEH) |JTA/RAC| B — 4 (H) 7,800 | 55% 6,100 | 65%| 11,950 | 32% 6,100 | 67%| 12,550 | 33%
BEH-ER JTA EH KRR 38100 31% 38,100 31% 38100 31%| 38700 | 33% 38700 | 33%
= — KR JTA/RAC| B — ik () 7,800 | 55% 6,100 | 65% 11,000 | 37% 6,100 | 67% 11,200 | 40%
JAL/JTA| & (FBE) — KR 21,050 | 38%| 21,050 | 38%| 21,050 | 38% 22300 | 39%| 22,300  39%
B3RS ] it 28,850  44%| 27,150 | 47%| 32,050  38%| 28400  48% 33500 39%
AKE—H#8 (B ) [JTA/RAC| AXE —H#& (V) 5700  52% 5700  52% 5700  52% 5700 54% 5700 54%
SHE— 48 EFH) | RAC | SHE— 48 (ERH) 21550 | 32%| 21550 | 32%| 21550 | 32%| 22,100 | 34%| 22,100 | 34%
BERE—EBEXE JAC BERE-—EBXKE 15750 32% 15750 32% 15750 32% 16,150 36% 16,150  36%
BERE—#ZE JAC ERE—#ZE 18,500 | 31%| 18500 | 31% 18500 | 31%| 18500 | 36% 18500 | 36%
BERE-EFE JAC BERE-EFE 9,200 27% 9,200 27% 9,200 27% 9,200 27% 9,200 27%
ERE—BAE JAC BERE—EBAS 10,200 27% 10200 27% 10200 27% 10200 | 27% 10,200 | 27%
BERE—ERE JAC BERE—ERE 18,250 | 25%| 18250 | 25% 18250 | 25%| 18250 | 25%| 18,250 | 25%
BERE—iHkBE JAC BERE—iHkBE 22,350 | 24%| 22,350 | 24%| 22,350 | 24%| 22,350 | 24%| 22,350 | 24%
BERE—5R JAC BERE—5R 23,500 | 24%| 23500 24%| 23500 24% 23500 24% 23500 24%
TERE—ZERE JAC BEXE—ERE 6,800 | 28% 6,800 | 28% 6,800 | 28% 6,800 | 28% 6,800 | 28%
BEAE—EZE JAC BEAE—EZE 9,750 27% 9,750 27% 9,750 27% 9,750 | 27% 9,750 | 27%
TERE—HKBE| JAC |BEKE—HKBER| 12450 | 26% 12450 | 26% 12,450 | 26%| 12450 | 26%| 12450 | 26%
TEKE—HKBE| JAC BERE—E5H 8,000 | 59% 8,000 | 59% 8,000 | 59% 8,000 | 59% 8,000 | 59%
JAC 5ifi— ik BE 4450 | 56% 4450 | 56% 4450 | 56% 4450 | 56% 4450 | 56%
(5 &t 12,450 58%| 12,450  58% 12450  58%| 12450  58%| 12,450 @ 58%
BEXE—5R JAC BEXE—5H 14,600 | 26% 14600 | 26% 14,600 | 26% 14600 | 26% 14,600 | 26%

.% - E‘ﬁ _5 7 =] s o o , ,
TERKE-5 JAC |EERE—HXKRE 9,200 | 45% 9,200 | 45% 9,200 | 45% 9,200 | 45% 9,200 | 45%
JAC HKBE— 5 5400 @ 46% 5400 | 46% 5400 | 46% 5400  46% 5400 @ 46%
[k BER] &t 14600 46% 14600 46% 14600  46% 14600 46% 14600  46%
HKBE -5 JAC HKBE -5 7,150 | 29% 7150 | 29% 7150 | 29% 7,150 | 29% 7,150 | 29%
HE B JAC HE B 9,550 | 22% 9,550 | 22% 9,550 | 22% 9,550 | 22% 9,550 | 22%
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MEERE1 IEER(1ASB~9BEES) JTA/RAC

EEBEAE . 2011/11/5 ~

1/5-9
=R B 447°A 4478 447°C 447D
T ama U0 e TR mma U00P mx (TN mme 00 e (TR mmm 00
AR EEIES AR EEIES AR EEIES AR EEIES
R CFIE) =548 (BE) | 7948 GiF) %[ Nugos | — — — — — — — — — — — —
NUO78 | — — — — — — — — — — — —
ABR (BH78) =548 (GR%) | 7948 GIR$R) 3| NUoss | — — — — — — — — — — — —
12k = b (5 EEES NUO51 — — — — — — — — — — — —
NUO53 | —— — — — — — — — — — — —
NUO57 | —- — — — — — — — — — — —
NUO61 — — — — — — — — — — — —
NU063 | —— — — — — — — — — — — —
NUO65 | —— — — — — — — — — — — —
%8 (BRER) %[ NUoso | — — — — — — — — — — — —
NUO52 | —— — — — — — — — — — — —
NUO54 | — — — — — — — — — — — —
NUO56 | -—— — — — — — — — — — — —
NU060 | —- — — — — — — — — — — —
NUO62 | —— — — — — — — — — — — —
HRCRE)=HE |®=xCHE) [ NUTI — — — — — — — — — — — —
NUO73 | —— — — — — — — — — — — —
RiES NUO78 | — — — — — — — — — — — —
RHR(CPE)=2% [HExCHE) [ NU021 — — — — — — — — — — — —
EE% NU022 | —- — — — — — — — — — — —
KR (HE) =h1E |[ABR(HFE) % NUss | — | — | —— — [ — 1= — [ — 1= — [ — 1=
RiER NUO084 | — — — — — — — — — — — —
ZEE () =FiE |2&E(P&E| NUI7T3 [ — — — — — — — — — — — —
RiER NU176 | — — — — — — — — — — — —
N =hHE () VEYZE | NUO3T — — — — — — — — — — — —
P48 (BR%) [ NUuo3s | — — — — — — — — — — — —
B (hEh) =48 (I H) | & &5 B (ch#R) %[ NU251 — — — — — — — — — — — —
NU253 | — — — — — — — — — — — —
NU255 | —— — — — — — — — — — — —
NU257 | — — — — — — — — — — — —
FRE R NU262 | — | —— | — [ — 1= — [ — 1= — [ — 1=
NU254 | —— — — — — — — — — — — —
NU176 | — — — — — — — — — — — —
NU256 | —— — — — — — — — — — — —
NU258 | —— — — — — — — — — — — —
] L = ;b #8 (FRER) feE] LI 5 NUO11 — — — — — — — — — — — —
PR (R | NUOT6 | — | —— | —— — [ — 1= — [ — 1= — [ — 1=
BB =H1E &5 %[ NU6oi — — — — — — — — — — — —
NU605 | —— — — — — — — — — — — —
NU607 | — — — — — — — — — — — —
NU611 — — — — — — — — — — — —
NU617 | — — — — — — — — — — — —
NU619 | — — — — — — — — — — — —
NU621 — — — — — — — — — — — —
NU625 | —— — — — — — — — — — — —
RIER NU600 | — — — — — — — — — — — —
NU604 | —— — — — — — — — — — — —
NU610 | — — — — — — — — — — — —
NU612 | — — — — — — — — — — — —
NU616 | —— — — — — — — — — — — —
NU618 | —— — — — — — — — — — — —
NU176 | — — — — — — — — — — — —
NU620 | —— — — — — — — — — — — —
NUO084 | — — — — — — — — — — — —
NU622 | —— — — — — — — — — — — —
NUO78 | — — — — — — — — — — — —
NU626 | —— — — — — — — — — — — —
PEAR) ==T [RGB [ NUS51 [ miH 5900 | 68% =] 5,200 72% 3HAT | 4200 77% 7E81 | 3200 | 83%
RAC801| miIE 5900 | 68% i) 5,200 72% 3EAI_| 4200 | 77% 7HRI_| 3200 | 83%
NU557 | BB 5900 | 68% B 5200 | 72% 3B | 4200 | 77% 7EHI | 3200 | 83%
NU561 | BiIE 5900 | 68% BIE 5200 | 72% 3ERI_| 4200 | 77% 7HRI_| 3200 | 83%
NU563 | BiIE 5900 | 68% BIE 5200 | 72% 3EAI | 4200 | 77% 7E8I | 3200 | 83%
NU565 | BilE 5900 | 68% BIE 5200 | 72% 3ERI_| 4200 | 77% 7HRI_| 3200 | 83%
NU567 | BB 5900 | 68% B 5200 | 72% 3EAI | 4200 | 77% 7BHI | 3200 | 83%
NU569 | BiE 5900 | 68% BIE 5200 | 72% 3EREI_| 4200 | 77% 7HRI_| 3200 | 83%
NU571 | BB 5900 | 68% B 5200 | 72% 3EAEI | 4200 | 77% 7E8I | 3200 | 83%
TS NU552 | gilE 5900 | 68% BB 5200 | 72% 3ERI_| 4200 | 77% 7HRI_| 3200 | 83%
NU556 | BiIE 5900 | 68% BIE 5200 | 72% 3EAI | 4200 | 77% 7BHI | 3200 | 83%
NU558 | BilE 5900 | 68% BB 5200 | 72% 3ERI_| 4200 | 77% 7HERI_| 3200 | 83%
NU560 | BiIE 5900 | 68% B 5200 | 72% 3EAEI | 4200 | 77% 7BH] | 3200 | 83%
NU562 | BilE 5900 | 68% BB 5200 | 72% 3EREI_| 4200 | 77% 7HRI_| 3200 | 83%
NU564 | BB 5900 | 68% B 5200 | 72% 3EAEI | 4200 | 77% 7EHI | 3200 | 83%
NU566 | BilE 5900 | 68% BB 5200 | 72% 3EAI_| 4200 | 77% 7HERI_| 3200 | 83%
NU570 | BB 5900 | 68% AR 5200 | 72% 3EAEI | 4200 | 77% 7BHI | 3200 | 83%
RAC804| gilH 5900 | 68% BB 5200 | 72% 3EREI_| 4200 | 77% 7RI | 3200 | 83%
Eh=AE BEEm% |RAC831| mEIH 9800 | 21% [ilE] 9700 | 22% L=l 9600 | 23% — p— p—
RAC833| @ilH 9800 | 21% =] 9700 | 22% =] 9600 | 23% — — —
RAC837| @il 9800 | 21% i) 9700 | 22% i) 9,600 | 23% — — —
FiE% |RAC832| miE 9800 | 21% =] 9700 | 22% i) 9600 | 23% — — —
RAC834| @iR 9800 | 21% [ilE] 9700 | 22% [ilE] 9600 | 23% — — —
RAC838| @ilH 9800 | 21% =] 9700 | 22% =] 9600 | 23% — — —
SPE(FRER) =AKE | (ANE) $| RAC8T1| AIA 9,600 22% Eil=] 9,300 24% Eil=] 9,000 27% — — —
RAC873| ®iE 9600 | 22% i) 9300 | 24% i) 9000 | 27% — — —
RAC877| @R 9,600 | 22% [il=] 9300 | 24% [l=] 9000 | 27% — — —
RAC879| ®iE 9600 | 22% i) 9300 | 24% i) 9000 | 27% — — —
AKEH |RAC872| @iH 9,600 | 22% [il=] 9300 | 24% [lE] 9000 | 27% — — —
RAC874| miE 9600 | 22% i) 9300 | 24% i) 9000 | 27% — — —
RAC878| @iR 9,600 | 22% [ilE] 9300 | 24% [lE] 9000 | 27% — — —
RAC870| @iH 9600 | 22% i) 9300 | 24% i) 9000 | 27% — — —
RIE=51E HiEH [RAC807| AEIH 6,700 46% | BE#| AIH 6,500 47% &AE#M|] m1H 6,300 49% &A@ —— — -—
ERESH |RAC806| #iH 6700 | 46% |=B@m| AiH 6500 | 47% |=B@m| @iH 6300 | 49% |&B@m| -—— — —
iR (BER) =5 30E [h# (%) F[RAC889| ®iH | 26500 21% |©#B@#m| AIH | 26300 | 21% | H@#| BIH | 26,100 | 22% |&H8#H| -— — —
E3E% |RAC880]| BTH | 26500 | 21% £ HEH| BIA | 26300 | 21% £ AEM| RFIH | 26100 | 22% £ EEM| — — —




r

IE:;“ R A= 1

EEERAE 2011/11/5  ~
1/5-9
FH9 347A 347B
X B4
MR gm0 ms  |Eme G0 6%
R CPHE) =48 R #) hEB(GIRER) % [ NU904 | 28HET | 27.800 35% 24,800 42%
NU078 | 28HHET [ 27,800 | 35% 24,800 | 42%
AR (BHFE) = ihiE (BRER) P GIRE) E | NU0s4 | 28HEI | 25,000 31% 22,000 40%
12k = s (BE) FFES NUO051 | 28H®I | 22,500 24% 19,000 36%
NU053 | 28HET [ 22,500 | 24% 19,000 [ 36%
NU057 | 28HET | 22,500 | 24% 19,000 [ 36%
NUO61 | 28HET | 22,500 | 24% 19,000 [ 36%
NU063 | 28HET [ 22,500 | 24% 19,000 [ 36%
NU065 | 28HET | 22,500 | 24% 19,000 [ 36%
B (ARE) F | Nuoso | 28HET | 22,500 24% 19,000 36%
NU052 | 28HET | 22,500 | 24% 19,000 [ 36%
NU054 | 28HET [ 22,500 | 24% 19,000 [ 36%
NU056 | 28HET | 22,500 | 24% 19,000 [ 36%
NU060 | 28HET [ 22,500 | 24% 19,000 [ 36%
NU062 | 28HET | 22,500 | 24% 19,000 [ 36%
HRCPH)=RE HRCHAE)FE [ NU071 | 2881 | 27,100 56% 24,000 61%
NU073 | 28HET [ 22,100 | 64% 19,000 [ 69%
RiEH NU078 | 28H@I | 32,100 48% 29,000 53%
HR(CPH) =8%h HRERCHAE)%E | NU021 | 28HEI | 27,000 53% 24,000 58%
=S NU022 | 28HEI_| 26,000 55% 23,000 60%
KBz () =HiE KB (BE7E)F | Nuos3 | 28HEI | 25,100 50% 22,000 57%
aiEH NU084 | 28HEI_| 26,100 48% 23,000 55%
£2GE(HE) =FR1E 2o E(hE)FE| NU173 | 28HET | 31,700 | 43% 28,000 49%
aiEH NU176 | 28H@iI | 31,700 43% 28,000 49%
N =3EE (BB N FE NU031 | 28HHT | 26,000 | 39% 24,000 | 44%
P48 (ARE) F | Nuo3s | 28HEIT | 26,000 39% 24,000 44%
Z2HE(hE) = BH) | A 5B (FAR)FK | NU251 | 28HFT | 30300 26% 27,300 33%
NU253 | 28HET [ 30,300 | 26% 27,300 | 33%
NU255 | 28HHET | 30,300 | 26% 27,300 | 33%
NU257 | 28HET | 30,300 | 26% 27,300 | 33%
B (ARE) F | Nu252 | 28HET | 30,300 26% 27,300 33%
NU254 | 28HET [ 30,300 | 26% 27,300 | 33%
NU176 | 28H®T | 30,300 | 26% 27,300 | 33%
NU256 | 28H®T | 30,300 | 26% 27,300 | 33%
NU258 | 28HET [ 30,300 | 26% 27,300 | 33%
& (L= b8 (AR ER) ENTES NUO11 | 28HEI | 23,000 37% 21,000 42%
P48 (ARE) F | Nuoie | 28HEIT | 23,000 37% 21,000 42%
R IRER) =R\ hEB(IRE) % [ NUe01 | 28HEI | 16,300 32% 13,300 45%
NU605 | 28HET | 16,300 | 32% 13,300 [ 45%
NU607 | 28HET | 16,300 | 32% 13,300 [ 45%
NU611 | 28HET | 16,300 | 32% 13,300 [ 45%
NU617 | 28HHET | 16,300 | 32% 13,300 [ 45%
NU619 | 28HHET [ 16,300 | 32% 13,300 [ 45%
NU621 | 28HET | 16,300 | 32% 13,300 [ 45%
NU625 | 28HET | 16,300 | 32% 13,300 [ 45%
RiEH NU600 | 28H &I | 16,300 32% 13,300 45%
NU604 | 28HET [ 16,300 | 32% 13,300 [ 45%
NU610 | 28HET | 16,300 | 32% 13,300 [ 45%
NU612 | 28HET | 16,300 | 32% 13,300 [ 45%
NU616 | 28HET | 16,300 | 32% 13,300 [ 45%
NU618 | 28HET | 16,300 | 32% 13,300 [ 45%
NU176 | 28HET | 16,300 | 32% 13,300 [ 45%
NU620 | 28HHET [ 16,300 | 32% 13,300 [ 45%
NU084 | 28HHET [ 16,300 | 32% 13,300 [ 45%
NU622 | 28HET | 16,300 | 32% 13,300 [ 45%
NU078 | 28HHET | 16,300 | 32% 13,300 [ 45%
NU626 | 28HET | 16,300 | 32% 13,300 [ 45%
HREBR) =2h ShEB(IRE) & [ NU551 | 28HEI | 3,100 83% 3,000 84%
RAC801| 28HAI | 3,100 83% 3,000 84%
NU557 | 28HH7 | 3,100 83% 3,000 84%
NU561 | 28HH7 | 3,100 83% 3,000 84%
NU563 | 28HH7 | 3,100 83% 3,000 84%
NU565 | 28HH7 | 3,100 83% 3,000 84%
NU567 | 28HH7 | 3,100 83% 3,000 84%
NU569 | 28HH7 | 3,100 83% 3,000 84%
NU571 | 28HHi | 3,100 83% 3,000 84%
=S NU552 | 28H@I | 3.100 83% 3,000 84%
NU556 | 28HH7 | 3,100 83% 3,000 84%
NU558 | 28HHi | 3,100 83% 3,000 84%
NU560 | 28HH7 | 3,100 83% 3,000 84%
NU562 | 28HHi | 3,100 83% 3,000 84%
NU564 | 28HH7 | 3,100 83% 3,000 84%
NU566 | 28H#7 | 3,100 83% 3,000 84%
NU570 | 28HHi | 3,100 83% 3,000 84%
RAC804| 28HEI | 3,100 83% 3,000 84%
B EEES RACS31| — — [ — — | —
RAC833| —- — — — —
RAC837| —- — — — —
RIEX RAC832| —- — — — —
RAC834| —- — — — —
RAC838| —- — — — —
HRRR) =AXE s (FRER) % | RACST1 — — — — —
RAC873| —- — — — —
RAC877| —- — — — —
RAC879| —- — — — —
AKEFE RAC872| —- — — — —
RAC874| —- — — — —
RAC878| —- — — — —
RAC870| —- — — — —
IR (IRER) =5/ shiE (FRE) F | RAC8IS[ — — — — —
R RAC816] —- — — — —
RN =BEKRE ohiE (FRER) % | RAC853[ — — — — —
TEXREHE [RAC854| — — — — —
BAAR=IXE BARK RAC835| —- — — — —
EAREH RAC836| —- — — — —
iR (RER) =5E hiE (FRE) F | RAC889[ — — — — —
5 ARE 5 RAC880]| —- — — —— ——

JTA/RAC



>l
[EH/E =i 1HA10H~31H
EEERAE 2011/11/5  ~
1/10-31
F4 347°A 347B
B BE |\ BANR| grp BET oy p— o
ERE mEix . ERE mEix "
R CPHE) =48 R #) 8 (FRER) % | _NU904 | 28HET [ 18,000 | 56% 15,500 | 62%
NU078 | 28HHT | 19,100 | 53% |+:18,100, H:23,100 | 16,900 | 59% |+:15,500, H:20,900
AR (BHFE) = ihiE (BRER) PEECGIRE) E | NU0s4 | 28HEI | 18,500 | 46% | H:20,000 16,000 | 53% | H:17,500
12k = s (BE) FFES NUO51 | 28H#T [ 17,100 | 38% | H:16,100 16,000 | 42% | H:15,000
NU053 | 28HHT [ 16,100 | 41% & +:17,100 15,000 [ 45% % 1:16,000
NU057 | 28HHET | 15700 | 43% 14,600 [ 47%
NUO61 | 28HHT [ 13,600 | 51% |%:15700 12,500 [ 55% |%:14,600
NU063 | 28HHT [ 13,600 | 51% |%:15700 12,500 [ 55%
NU065 | 28HHT [ 13,600 | 51% |%:15700 12,500 | 55%
R (ARE) F | Nuoso | 28HET | 13600 | 51% £+ H:14,700 12,500 | 55% %+ H:13,600
NU052 | 28HHT [ 13,600 | 51% &+ H:14,700 12,500 | 55% |+ H:13,600
NU054 | 28HHT [ 13,600 | 51% &+ H:14,700 12,500 | 55% &+ H:13.600
NU056 | 28HET | 13,600 | 51% 12,500 [ 55%
NU060 | 28HHT [ 16,100 | 41% £ H:18,100 15,000 [ 45% £ H:17,000
NU062 | 28HHT [ 15100 | 45% £ H:17,100 14,000 [ 49% £ H:16,000
HRCPH)=RE HRCHAE)E [ NU071 | 28HEI | 24,100 | 59% £ +:27,100 21,000 | 65% |2 1:24,000
NU073 | 28HHET | 21,300 | 64% 18,200 | 69%
AiE% NU078 | 28EHHT [ 25400 | 57% | H:28,900 22,300 | 62% | H:24,400
HR(CPH) =8h HRERCHAE)%E | NU021 | 28HEI | 23200 | 58% % 1:25600 18,200 | 67% |£1:19,600
=S NU022 | 28HEI | 20,900 | 62% |H:23,300 17,900 | 68% | H:20,300
KBz (Efe) =H1iE ABr (BE7E)F | NuUos3 | 28HET | 23,100 | 52% £ +:25100 20,000 | 59% |£+:21,000
AiE% NU084 | 28HHT [ 22,100 | 54% | H:23.800 19,000 [ 61% | H:20,700
£2GE(hE) =R1E ZEE(hER)F | NU173 | 28HEI | 23,700 | 55% |&1:27,700 20,000 | 62% £ +:24,000
AiE% NU176 | 28E#T [ 23700 | 55% | H:27,700 20,000 | 62% | H:24,000
AN =i (FRER) IVEAFE NU031 | 28H®I | 23,000 | 44% £ 1:26,000 21,000 | 49% £ +:24,000
SPHB(RE) R | NU03s | 28HET | 23,000 | 44% H:26,000 21,000 | 49% H:24,000
£ HE (hE) =B (BH) | BEE(FER)FK | NU251 | 28HFT | 21,400 | 45% &1:26,400 18,300 | 53% |% +:22,300, H:19,300
NU253 | 28H#T [ 21,400 | 45% % 1:26,400 18,300 | 53% |% +:22,300, H:19,300
NU255 | 28H#T | 20,400 | 47% % 1:25400 18,300 [ 53% % 1:21,300
NU257 | 28H#T [ 17,100 | 56% & +:19,100 15000 [ 61% £ 1:17,000
B (ARE) R | Nu252 | 28HET | 17,100 | 56% | H:18,800 15,000 | 61% | H:16,700
NU254 | 28H#T [ 19,300 | 50% | H:24,300 17,200 [ 55% | H:20,200
NU176 | 28E &1 | 21,400 | 45% | H:25.800 18,300 [ 53% |H:21,700
NU256 | 28E#T | 21,400 | 45% | H:25.800 18,300 [ 53% |H:21,700
NU258 | 28E#T [ 21,400 | 45% | H:25.800 18,300 [ 53% |H:21,700
& (L =8 (AR ER) ENTES NUO11 | 28H@I | 20,000 | 42% |£1:23,000 18,000 | 47% |£1:21,000
P#B(ARE) F | Nuoi6 | 28HET | 20,000 | 42% | H:23,000 18,000 | 47% | H:21,000
R IRER) =R\ 8 (FRER) % | NU601 | 28HET | 9700 | 58% 9100 | 60%
NU605 | 28HET | 13,500 | 41% 12,900 [ 44%
NU607 | 28HET | 9700 | 58% 9100 | 60%
NU611 | 28H®T | 9,700 | 58% 9100 | 60%
NU617 | 28H®T | 9,700 | 58% 9100 | 60%
NU619 | 28HET | 9,700 | 58% 9100 [ 60%
NU621 | 28H®T | 9,700 | 58% 9100 | 60%
NU625 | 28H®T | 9,700 | 58% 9100 | 60%
RiEH NU600 | 28H@I | 9,700 58% 9,100 60%
NU604 | 28HET | 9,700 | 58% 9100 | 60%
NU610 | 28H®T | 9,700 | 58% 9100 | 60%
NU612 | 28H®T | 9,700 | 58% 9100 [ 60%
NU616 | 28H®T | 9,700 | 58% 9100 | 60%
NU618 | 28H®T | 9,700 | 58% 9100 | 60%
NU176 | 28HET | 13,500 | 41% 12,900 [ 44%
NU620 | 28HET | 13,500 | 41% 12,900 [ 44%
NU084 | 28HHET | 13,500 | 41% 12,900 [ 44%
NU622 | 28HET | 13,500 | 41% 12,900 [ 44%
NU078 | 28HHET | 13,500 | 41% 12,900 [ 44%
NU626 | 28HET | 13,500 | 41% 12,900 [ 44%
HREBR) =2h S8 (FRER) % | _NUS51 | 28HET | 11,700 | 33% 11,200 | 36%
RAC801| 28HAM | 11,700 [ 33% 11,200 | 36%
NU557 | 28H®T | 11,700 | 33% 11,200 | 36%
NU561 | 28H®T | 11,700 | 33% 1/17.3&8{K 11,200 [ 36% [1/17584k
NU563 | 28H®T | 11,700 | 33% 11,200 [ 36%
NU565 | 28H®T | 7.900 | 55% 7,400 | 58%
NU567 | 28H®T | 7.900 | 55% 7,400 | 58%
NU569 | 28H®T | 7.900 | 55% 7,400 | 58%
NU571 | 28HET | 7.900 | 55% 7,400 | 58%
=S NU552 | 28HFI | 11,700 | 33% 11,200 | 36%
NU556 | 28H®T | 11,700 | 33% 11,200 | 36%
NU558 | 28H®T | 11,700 | 33% 11,200 | 36%
NU560 | 28H®T | 7900 | 55% [1/17.3&8f{K 7,400 | 58% [1/1758fk
NU562 | 28H®T | 7900 | 55% 7,400 | 58%
NU564 | 28H®T | 11,700 | 33% 11,200 [ 36%
NU566 | 28H®T | 7900 | 55% 7,400 | 58%
NU570 | 28H®T | 7.900 | 55% 7,400 | 58%
RAC804| 28HBAI | 7,900 [ 55% 7,400 | 58%
BEo=HAE =S RAC831| 28HAI [ 9.200 23% 8,900 25%
RAC833| 28HBAI | 9,200 [ 23% 8900 | 25%
RAC837| 28HBAI | 9200 [ 23% 8900 | 25%
AiEH RAC832| 28HBAI | 9200 [ 23% 8900 | 25%
RAC834| 28HBI | 9200 [ 23% 8900 | 25%
RAC838| 28HBAI | 9200 [ 23% 8900 | 25%
HRERER) =AXE shiE (FRE) F [ RAC871] 28HHAN | 8100 [ 31% 7,600 | 36%
RAC873| 28HBAI | 8100 [ 31% 7,600 | 36%
RAC877| 28HBI | 8100 [ 31% 7,600 | 36%
RAC879| 28HBAI | 8100 [ 31% 7,600 | 36%
AKBEF RAC872| 28HAI | 8,100 31% 7,600 36%
RAC874| 28HBAI | 8100 [ 31% 7,600 | 36%
RAC878| 28HBAI | 8100 [ 31% 7,600 | 36%
RAC870| 28HBAI | 8100 [ 31% 7,600 | 36%
R RER) =5/ hiE RE) F [ RAC815] 28HHAN | 11.600 [ 18% 10,800 [ 24%
wWE RAC816| 28HAI | 11,600 [ 18% 10,800 [ 24%
R =BEKE hiE RE) F [ RAC853[ 28HTI | 18.600 [ 20% 17,600 | 24%
BTEAEF | RAC854| 28HAT [ 18,600 | 20% 17,600 | 24%
BRER=I1XE BAARE RAC835| 28HHAT | 6,900 | 17% | NIKK.EM 6,600 | 20% | NJKAK.IEM
St REH RAC836 | 28HEI | 6.900 17% A2+ HiEfH 6,600 | 20% |A.#.t HiEf
RS =5E B IRE) % [RAC889| 28HEN [ 20600 | 35% [K.JK.&.HIEM 19,600 | 38% | :K.JK.%.HEff
SREH RAC880( 28HHT | 20600 | 35% kK& HEf 19,600 | 38% kK. H.IEH

JTA/RAC



o 48 | SER4=E
[R=—\—%Z3EEXR(1ASH~31HEESR) JTA/RAC
EEEAR 2011/11/5 _ ~
1/5-9 1/10-31
F e _—
ol B2 \manm| mme THY % UL fiad %
e 2|5 |%E
R CRA) =+ (REH) R RE) R [ Nu9o4 | 45871 [ — — 13,800 66%
NU078 | 458R1 | — -— 15,900 61% |1:14,500, H:19,900
ABx (B87E) =& (FRER) i (BE) % | Nuos4 | 4581 [ — — 12,800 63%
takE = s (FRER) R R NUo51 | 45881 | — -— 15,500 44% | H:14,500
NU053 | 458%T | — — 14,500 47% % 1:15500
NU057 | 45881 | — -— 12,000 56% | £:14,100
NUoe1 | 458FT | — — 9,800 64% [£:11,900
NU063 | 458R1 | — -— 9,800 64%
NUo65 | 458FT | — — 9,800 64%
shfE (IRER) & | NU050 | 458H@1 | — — 12,000 56% s+ H:13,100
NU052 | 458FT | — — 9,800 64% [£ 1 H:10,900
NU054 | 458R1 | — -— 9,800 64% [£ 1+ H:10,900
NU056 | 458FT | — — 9,800 64%
NU060 | 4581 | — — 14,500 47% % H:16,500
NUo62 | 458FT | — — 13,500 51% |% H:15,500
HRECHHE)=R"1E RECHAE)F [ NUo71 | 458%T1 [ — -— 20,800 65% |£1:23,800
NU073 | 45881 | — — 18,000 70%
RIE% NU078 | 458R1 | — -— 22,100 63% | H:24,200
RECHAE) =4 HRCHE)% [ Nuo21 | 45881 [ — — 18,000 68% |£1:19,400
EEH NU022 | 458R1 | — -— 17,700 68% | H:20,100
KR (BAE) =RiE Kbz (BSFE) % | NU083 | 458@1 | — — 19,800 59% |4 1:20,800
RiIEFR NU0g4 | 458R1 | — -— 18,800 61% | H:20,500
ZHE(hE) =RE LEERE) X | NU173 | 45881 | — — 19,800 63% % 1:23,800
RIEF NU176 | 45881 | — -— 19,800 63% | H:23,800
ZHE(hE) =+ (H) | BEE(hER)F [ NU251 | 45HE1 | — — 16,000 59% |£1:21,000
NU253 | 45881 | — -— 16,000 59% [£+:21,000
NU255 | 458F1 | — — 14,000 64% [£1:19,000
NU257 | 45881 | — -— 9,800 75% |2+ H:11,800
iR (RE) R [ Nu2s52 | 45881 [ — — 9,800 75% &+ H:11,800
NU254 | 45881 | — -— 14,000 64% | H:19,000
NU176 | 45881 | — — 16,000 59% | H:20,400
NU256 | 45881 | — -— 16,000 59% | H:20,400
NU258 | 458FT | — — 16,000 59% | H:20,400
FITESEEAE ) EIES NUoi1 | 4581 | — — 17,000 50% % 1:20,000
i (BE)F | Nuote | 45881 [ — — 17,000 50% | H:20,000
HiE(RER) =R1E shfE (IRER) & | NUeot1 | 45H@1 | — — 8,700 62%
NU605 | 458FT | — — 12,500 46%
NU607 | 458R1 | — -— 8,700 62%
NUeil | 45881 | — — 8,700 62%
NU617 | 45881 | — -— 8,700 62%
NU619 | 458FT | — — 8,700 62%
NU621 | 458R1 | — -— 8,700 62%
NU625 | 458FT | — — 8,700 62%
RiE% NU600 | 458R1 | — -— 8,700 62%
NU604 | 458FT | — — 8,700 62%
NU610 | 45881 | — -— 8,700 62%
NU6i2 | 458FT | — — 8,700 62%
NU616 | 45881 | — -— 8,700 62%
NU6i18 | 458FT | — — 8,700 62%
NU176 | 45881 | — -— 12,500 46%
NU620 | 458%T | — — 12,500 46%
NU0g4 | 458R1 | — -— 12,500 46%
NU622 | 458FT | — — 12,500 46%
NU078 | 458R1 | — -— 12,500 46%
NU626 | 458FT | — — 12,500 46%
HEGREH) ==h B (FRE) F | NUS51 | 45HEI | 2,900 84% 11,000 37%
RAC801| 45H®T | 2,900 84% 11,000 37%
NU557 | 458 | 2,900 84% 11,000 37%
NU561 | 45HET | 2,900 84% 11,000 37% [1/17.8K
NU563 | 45HRT | 2,900 84% 7,200 59%
NU565 | 45HET | 2,900 84% 7,200 59%
NU567 | 45HR1 | 2,900 84% 7,200 59%
NU569 | 45HET | 2,900 84% 7,200 59%
NU571 | 45HRT | 2,900 84% 7,200 59%
BT NU552 | 45HET | 2,900 84% 11,000 37%
NU556 | 458 | 2,900 84% 11,000 37%
NU558 | 45HET | 2,900 84% 11,000 37%
NU560 | 45HRT | 2,900 84% 7,200 59% [1/17:584k
NU562 | 45HET | 2,900 84% 7,200 59%
NU564 | 458 | 2,900 84% 11,000 37%
NU566 | 45HET | 2,900 84% 7,200 59%
NU570 | 458 | 2,900 84% 7,200 59%
RAC804 [ 45H® | 2900 84% 7.200 59%




